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‘mod 3]0

QWYL = dASWN

‘mod 3|0d

CW/6'L = dASN

‘mod 3|0d

{W6By = dASYN
ZUGL'D = dOMAM

‘mod 904

CWG'T = dASWN

‘mod 9)0d

CW69'0 = dASWN

‘mod 9|0

{WGE'0 = dASYN

‘Mod 904

CW99'0 = dASYN

‘mad ajod

JWBE0 = dOMAM

‘mod ajod

TW/LD = dOYAM

‘mod 9j04

‘mod 8jag

CWEgD = dONAM

‘mod 3j0g

TWEZ' L = dOMAM

‘mod 9j0d

QW90 = dOMAM

“mod ajod

CWIB'0 = dOYAM
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‘mod 3j04

TWOG L = dASWN

‘mod 9j0d

JW66‘L = dASYN

‘nod 9104

TWG/'C = dASWN

‘wod 3104

IWLET = dASWN

‘mod 3|04

TWee L = dASWN

“nod 9|04

ZWE0 L = dASYN

‘Mod 304

CWIE'0 = dASWN

‘mod 8|0

TWILL = dOMAM

‘mod 3|0

Twgg’n = doyAM

"mnod 8jod

Twz8'0 = doMAM

‘mod 3j0d

TWOL'0 = dOXAM

‘mod 8|0

TWEBD = dOMAM

“nod 9|og

QWLL'D = dOYAM

‘mod 8|0

CWSL'0 = dOMAM
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